Notes Unit 7 — Differential Equations Name

Skill Builder: Topic 7.8 — Exponential Models with Differential Equations
APClassroom Assignment Hw 7.8
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3. H Population y grows according to the equatlond—f = ky , where £ is a constant and 7 is measured in years. If the

population doubles every 10 years, then the value of & is
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4. H A puppy weighs 2.0 pounds at birth and 3.5 pounds two months later. If the weight of the puppy during its first
6 months is increasing at a rate proportional to its weight, then how much will the puppy weigh when it is 3 months
old? Ay (> Firok use(235)
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= During a certain epidemic, the number of people that are infected at any time increases at a rate p10p01 tional to
the number of people that are infected at that time. If 1,000 people are infected when the epidemic is first

discovered, and 1,200 are infected 7 days later, how many people are infected 12 days after the epidemic is first
& discovered?
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The weight of a population of yeast is given by a differentiable function y, where y(7) is measured in grams and 7 is
measured in days. The weight of the veast population increases according to the equatlon & _ = ky, where k is a

constan(t At time 7 = 0. the weight of the yeast population is 120 granis and is increasing at the rate of 24 grams per
day. Which of the following is an expression for y(7) ?
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7. [ The population P of a city grows according to the differential equatio dP = kP, where £ is a constant and 7 is

measured in years. If the population of the city doubles every 12 years, hat is the value of & ?
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Oil ig-being pumped continuously from a certain oil well at a rate proportional to the amount of oil left in the well; that

. and 6 years later there were 500,000 gallons remaining. It will no enger be profitable to pump oil when there are
er than 50,000 gallons remaining. ) C_

At what rate is the amount of oil in the well decreasing when there are 600,000 gallons of oil remaining?
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where y is the amount of oil left in the well at any time r.@lly there were 1,000,000 gallons of oil in the
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